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By 3% S FN054-08 H 07 H ket - 108 b (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]

IENE AbE 10. 00| AHxf 580 5,800 1,620 1,309 1,015
H X k¥ 15. 00 | ¥ 495 7,425 1,512 1,175 896
T D FiE 10. 00 | #H%f 600 6,000| 1,123 797 594
H % o 3. 00| FHxf 87 261 1,620 1,553| 1,458
i A ] 1L 1. 00| FHxf 145 145 864 786 432
ENIE so0l /A%t 4] 20| 2,700| 2,363| 1,620
AN ™5 5. 00| FHx%f 520 2,600 2,160 1,833 1,188
ENIE 0.50| kE%f| 2,481 1,241 167 29 97
EN 0.40| fxt| 2,200 8so|  162| 145 76
= O 4. 00| AHxf 1, 361 5,444 1,512 1,101 864
[ I\ %O 5. 00 | #H >t 1, 056 5,280 2,052 1,544 864
E—< %% 0. 15| FH%f 3, 300 498 70 67 49
~7 b~ | AbiEiE 3. 00 [ FHx} 870 2,610 2,052| 1,760| 1,080
(= AbiEiE 0. 10| #H%f 80 8 173 170 162
H 3 w5 5. 00 [ FHx} 102 510 1,944| 1,800 1,404

e Bl Ti3TE] 10. 00| AH %t 25 250 1, 102
5 F b 10. 00 | #H%f 1, 005 10,050 4,860 4,454 3,024
£ A L 10. 00 | #856f 1, 007 10,070 1,404 1,173 540
L&A £ B 10. 00 | #85f 1, 400 14,000 1,188 1,039 540
P=—lH A & ¥ 4. 00| FHxf 595 2,380 2,484 1,439 1,080
T AINT F I 0. 10| #Hx} 1,585 159 184 115 76
Tayal— £ ¥ 4. 00| FHxf 50 200 2,376 2,246| 2,160

L xon A 4. 00 | FH%f 9 36 2,484
AEHEE w5 0. 10| #H%f | 2,900 290 167 125 65
ZDEH E % 0. 20| FA%F 1,410 282 80 47 41
LU 5 % 0. 20| FA%F 150 30 82 65 60
AA ha—yv 5 % 5. 00| FHxf 954 4,770 1,966 1,416 540
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2 W B #E7E Boal R
RHE 4 Fn054£08 H 07 H eI Dt e/ 67 ko (Biir)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]

=K w5 10. 00| AHxf 511 5,110 5,832 5,159 2,376
“ A J= 10. 00 | #H%f 225 2,250 7,560 6,420| 4,320
S K B 0. 35| ¥H%F 340 119 432 384 324
A — % [ 2. 00| FH%F 50 100| 3,456| 3,128 2,700
% A4 0. 50| FA%f 1, 432 716 389
LR Foak 0. 30| FHxf 788 235 410 386 216
/NETE K B A& 10. 00 | #H%f 529 5,290 4,158| 3,093 1,998
v 7 4 U E | 13.00| fH%F 34 442  3,024| 2,359 594




